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18CS33

(06 Marks)
(09 Marks)

Explain the construction and wgfk&glrinciple of LED. ;
List the types of transistor bi

3 a. Findffiminimum sum of
f(a,b, c, d) = ),m(0,2,6,1(

b. Draw the t

IUIe-l "4!u

nciple of LED. , (05 Marks)
in Fixed Bias Cir&ffih$rith necessary analysis.\

"+! (06 Marks)'$s "i+c. Explain the operation offiagaWle multivibrator usin$*"Id555 and derive the expression for
time period, frequency.#H#.ty cycle. flffi (0e Marks)

*#is* oR. #
2 a. Explain the opomutioh ofpeak detector circJkl$Mith neat diagram (05 Marks)

b. List and expJaifoft€ performance paramgffif regulated power supply. (06 Marks)
c. Explain tllg3-bit flush type ADC with no&dsary circuit and truth table. (0e Marks)
b. List and expJaql@e performance paramqffif regulated power suppl1
c. Explain tllg3t'it flush type ADC with ndHcdsary circuit and truth table.

j*;u\* fu ,&=a. Finffiminimum sum ofprodiihmhsins K-map and i&ffih prime inr
;'q@!!E!€, *"flIt*

mum sum ofprod@hsing K-map ana i$ffib prime implicants.

f m(0,2,6,10,1l,k2,1j)+d(3,4,5,t+,tffi% dfuf(a,b,c,d) = )m(0,2,6,10,11,$2,13) + d(3,4,5,14,1#fuffiffi, ffi (06 Marks)
r {hd qffi P d{ffiffib. Find the minimum SOP.ffi#OS using r-mapffi - 6ffi

f(a,b,c,d) =lm(6,7,q,r&0]lll + d(1,4,5,1t)* W *-**d (08 Marks)
.,{ .# 1i!".*

c. List the steps for Petrjok% method. re* t.P (06 Marks)

* **.,' Mfl fu"";"

a. Find all the ffie implicants uffiOulne Mc Clgsk@ method. Veri$, the result using
K-map. . wr ffi
F/,,, --",,o\-Y*,rzor'r rrr9$'%r,{r/zt t t\ O:5* /rtilr^-r.-\

-ffi.*!fiqw
f(w,x;ry,;*) = )m(7,9,12,1ffiflP + d(4,11) W (12 Marks)

b. Usinffiime implicatior-g@gffi find all the minimum SOP of the function using Quine
MeGhrskev mefhod rqfl*".,

,2,w; 10, 11,12,13;.,*41S) (08 Marks)

*,

Fig. Qs (b) - (iD

hazard can be detected and removed with
(09 Marks)suitablg*kmple.

wqY
qnl'

,Stlry&
,"' 

-"..ru,,,, 't1t

Aq.{ d.**ffi, U j0

e. Y 'r:- AE lLFig. Qs (b) - (r)c. List the typp fi hazards. Explain how qtatic I
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OR

6 a. Write short notes on three state buffers' ffiffi ::: YT:l;. iliil:;;il;;t&"'derusingPlA' .ruMffi 
w 9:Y:f:

;: c"rti*t sli*o*"tingonlvl: l mux' " : W- (08Marks)

#\ *er*
q,s

ModuIeA. \
'--W*driF

7 a. Giventhat A= "00101101" and g ='n6'0* ermine the value ofh"*
r1=lotE,oc \rlrr tr^B r sus%#r w'^ e \.

b. :Write the complete VHDL code for 4 ffiFtrry.add9r' . .. W , (08 Marks)

;: E,.dffi;;"d;-+irDr *J. '* r*ffi{tediimutated and sflt*sLea with examplii",r..)b. :Write the complete VHDL code for 4 ffiP6ry.add9r
e_

WM
ls\"
ff ld$d POR YP

8 a. Explain r Flip Flop with tnftffipute- & @ 191Y*:'l
l&'Eed

Explain T Flip FloP with tnltffible.
Bxirtain Vtaster-Stave ffi$fi fiop with neat diagrail. ;ililil#t-ih;r*&tlffiivithneatdiasa@ (08Marks)

;: w;"il. rilnotes * 
Wkffirbouncing 

with an Qffi#tctr. (05 Marks)

& * Module-Sd
g a. pxplain 8 bit srffi$ih serial out shift reg$ryp (10 Marks)- ; E;;m ,gUpmffi.l adder with accumr@H (10 Marks)

sruful .d'

ffik \ *oR 
.,- ,,,-&- n^-

10 f, B$ffiH:X?.T*?.i#:ffi,'.#ilX$*i#ffi'-flfltxamp,es [ll#H:]
" e &ffiw @Ml.<o {. !r,} * *ffie " **.\""qe uq* -%

e*\ * qtw6\" - mt.*,W[' d%;.
d d- &w -@\ 6s *u r'm*;*rym q].* %ryP

{dqx* re "Sd# mu d\ d

# wd dffidMq {k ..*"\dWfu & # effi"
"e\ c ru"b' dfuryY ruW #ss,,r ,.*%p d\"

d {$u ,@dee- W ,*\,@ -w#- effi"
-p-\ 4Xt s/fum" XW fur .,$qsd %J$ 4\

mw* q*&
#!rh A \
$ h f *m\r-& S \eW"Y

4" X q" ,vc

W#
&-we
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%t

#&
W

@

2 of2
d@

W
@

&


